Apartment in Mosta



Reference No: 240291036-831

Mosta, Central



€278,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 95

Bedrooms: 2

Apartment - For Sale - Mosta

Mosta new development already built and being finished small block of 12 units, a selection of 1 and 2 bedroom apartments and penthouses different layout to choose being sold highly finished including bathrooms and excluding internal doors sold free hold optional garages available to. Contact agent for further details.

Features

✓ Lift

Ceramic Floor

PVC Piping

✓ A/C

✓ Balcony

Rooms

Kitchen/Dining: 4.43 x 4.62 m (20.47 m2)

✓ Double Bedroom : 3.15 x 2.67 m (8.41 m2)

✓ Double Bedroom : 3.15 x 3.07 m (9.67 m2)

✓ Walk In Wardrobe : 2.11 x 1.79 m (3.78 m2)

✓ Bathroom Ensuite : 1.42 x 3 m (4.26 m2)

✓ Bathroom : 2.65 x 2.07 m (5.49 m2)

Gallery











Stephen Borg RE/MAX Park Estates - St Paul's Bay

M: 79604744

E: steve@remax.com.mt

T: 21579747

RE/MAX Park Estates - St Paul's Bay
Park Estates Ltd, Mosta Road, St Paul's Bay, Malta